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1. RORZTIXRLTEHELAGTL,

1) (@ - (-4~ a)
=—(@-4)(a+4)= - (a®-16) = —-a%>+16

(3) (x+2y) (x2 + 4y2) (x—2y)
= (x +2y)(x - 2) (x* + 4y?)
= (x2 - 4y2) (x2 + 4y2) =x* - 16y4

(5)98 x 102
= (100 — 2)(100 + 2) = 100% - 22
= 10000 — 4 = 9996

(7) Ba + 1)2 — (3a — 1)?
Ba+1+3a-1)Ba+1-(B8a-1))
6ax2=12a

2)19x 13+ 13 x 11
= 13(19 + 11) = 13 x 30 = 390

(4) 312
=(30+1)2 =302 +2x30x1+12
=900+ 60 + 1 = 961

(6)2.1x1.9
=(2+0.1)2-0.1)=2%2-0.12=4-0.01
= 3.99

(8) 36% — 142
(36 + 14)(36 — 14) = 50 x 22 = 1100

(1) —a”> + 16 (2) 390

(3) x* - 16y* (4) 961
(5) 9996 (6) 3.99
(7) 124 (8) 1100

2. x=24,y=19DEDRDADIEZRDHE LY,

(1) x> - 2xy +y>
=(x-y)?=(24-19)* =5 =25

(2) x* +2x - 24 +y*> -8y -9
=x+6)x-4)+y-9y+1)
=(24+6)24-4)+(19-9)(19 + 1)

= 30 x 20 + 10 x 20 = 600 + 200 = 800

(2) 800




